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1
A) g(x,y,z)° x+2y+3z-1=0 fxy.z)=x*+y*+2°
F(x,y,z,l )= f(x,y,z)+| g(x,y,z) F,=2x+1 =0, F, =2y+2 ,
F,=2z+3 =0 (xy,2)=(-1/2)41 2,3) F =g=0 (- 1/2)44=1,
\ 1 =-17, (x,y,2)= (114, 2/14, 3/14,)
B) f - Nf g=0 Ng
- Nf p-(xy,2)u (1 2,3), Ng=(23
2.
A) w,
- x xf cosw,t L=mu?/2- mw2x?/2- (- xf cosw,t)
L/9x - d(fL/9X)/dt = - mw?x+ f cosw,t- mx=0
B)
X, = Acodw,t +a)
Xg = txgosinw,t X +WZXg = 2gW, COSW,t = f cosw,t
g="f/2w, X = Xg + X = Acosw,t +a)+(t f/2w,)sinw,t
3.
A) H=p*/2+x/2- px+a{x+p)/v2 L

X=1H/fp=p- x+a/N2 L=px- H =px- (p- x)’/2- a {p+x)/+2
L=-(x- a/v2) /2- a i+ 2x- a/v2)/V2 + (x+ x- a/2)x

B) q=p/4 X =cosq xx+sinq xp = (x+ p)/v2, P =cosq xp- sing xx=(p- x)/v2
H = P? +aX (a=mg)

w, ds/dt © \[dx® +dp? /dt
x(t) = Asinw,t u(t) = Aw, cosw,t E=mAW2/2  A=.2E/m/w,
dx = dt xAw, cosw,t, dp =- dt xmAw. sinw,t
\ ds/dt = | A% cos?wt + m2 AR sin?w,t = /(2 E/m)cos? wt + 2Emw 2 sin?w,t

=2E/m ><\/coszw0t+(mw0)2 sin?wt

E~E+dE (




